ctpanura 1 ot 3

494106 - CTL MIDI 230V

ADEZ W5

AOTT ‘g2 (k

XE WS (E
[wsN snv NG

HI A QET 8D (T

ADEZ (T

0879
@%. GH_ (=)
B 0

I (%)
ey’

(xt)

/67

9.6.2014

http://ekat.festool.de/EKAT-Service/jsp/main.jsp?select=currentimage AndPartlist&doA...



cTpanuia 2 ot 3

Pos|| Teile-Nr. Benennung Menge|| Preis || Preis inkl. Lager-Code ||Garantie
ohne MwsSt
MwsSt

[1 [[498299  [[Turbine 220-240v |1 || 141,57| EUR 168,47|[090-H11-403 |}7a |
[11 |[456813 |[Drenknopf |1 | 2,78]| EUR 3,31|[090-00-201 |72 |
[12 |[456814  |[Drehknopf I | 5,04/ EURG6,00{090-00-301 |[Ja |
[13 |[452452  |[senkschraube M4 x 8 2 | o,98| EUR1,17| IEE |
|14 |[456057 |[Schnappverschluss |4 | 3,43] EUR4,08|[090-H11-404 )72 |
[15 |[499748 |/Gehause IE | 44,50|| EUR 52,96 I |
[16 |[452447 |[Linsenschraube 5,0 x 30 mm I3 | 0,77]| EURO0,92]090-NN-203 |[3a |
[17 |[456080  |[Klemmbriicke IE | 3,65 EUR4,34/090-MM-202 |3a |
l18 |[499748 |[Gehause IE | 44,50|| EUR 52,96 I |
[19 |[456070  |[Ansaugrohr IF | 5,94 EUR7,07| |2 |
[2 |[456826 |[schalter 230V IE! || 13,09|| EUR 15,58/[090-H7-503 |[;a |
[20 |[456764  |[Federblech IE | s5,48| EUR6,52 IEE |
[21 |[456068 |[PTC-Widerstand IE | 13,41]| EUR 15,96/090-H7-703 |}3a |
[22 |[456810 |[Gehause 230v IE | 29,74|| EUR 35,39 IEE |
[23 |[456072  |[Dichtung IF | 4,44 EUR 5,28 IEE |
[24 |[456065 |[Dichtung IE! | 6,05 EUR 7,20 |72 |
[25 [[452029  |[pIcHTUNG, TURBIN CT HINTEN |1 | 7,02] EUR 8,35 ||1a |
|26 |[456821 |[Dammmatte IE | 18,08|| EUR21,52|090-H7-803 |3a |
|27 |[456817  |[Kohle (Paar) 230v IE | 27,42|| EUR32,63|[090-MM-101 |32 |
[28 |[456771  |[kabelbaum 230v IE | 8,97 EUR10,67| [EB) |
[29 |[456066 |[Dichtung I | 5,92| EUR 7,04 ||1a |
[3 |[452078 |[Kabel 7,5 m EU I | 48,61]] EUR57,85|[090-H10-504 |}7a |
[30 |[454640 |[Linsenschraube 2 | 2,40]| EUR 2,86 |72 |
[31 |[456154 |[kabelbaum 230v I | 6,44]] EUR 7,66 |72 |
|32 |[400669 ||Linsenschraube 3,5 x 30 mm IE | o,60| EURO,71l IEE |
33 [[452099  |[Klemme |1 | 4,00] EUR4,76|[090-MM-203 |}1a |
[34 |[456824 ||Filtergenguse IE I I || |72 |
[35 |[454651  |[zylinderschraube 5,0 x 119 mm |4 | 7,19]| EUR8,56/090-NN-601 |j3a |
[36 |[10002870 |[Behalterdichtung |1 || 13,45|] EUR 16,01]| ||7a |
137 |[456790 |[Hauptfilter IE | 18,10/ EUR 21,54|[090-H11-501 |[Nein |
[38 |[456820  |[Rahmen IE | 883| EUR10,51|[090-H7-705 |}1a |
[39 |[494151 |[Klammer IE | 7.62] EUR9,07| |72 |
[4 |[454642 |[steckdose EU 230V I | 10,44|| EUR 12,42[[090-H11-503 [[1a |
40 |}494152  |[Benalter IE | 59,61| EUR70,94|[090-H7-902 |}1a |
|41 |l452945  [[Rolle |2 | 5,98/ EUR7,12|[090-H7-701 |}a |
42 |l456096  |[Riegel IE | 5,53|| EURS,58|[090-H7-502 |]7a |
[43 |j456759  |[FuB IF | 6,15| EUR7,32|[090-H7-501 |]7a |
[44 |[456095 |[Drehfeder |1 | 1,08/ EUR1,29(090-MM-201 |[[1a |
l45 |[456886  |[Rad IE | 401] EUR4,77| |l1a |
|46 |[456092  |[Radsicherung |2 | 3,78/ EUR4,50|[090-H7-704 |j7a |
|47 |[454650 |[Radkappe |2 | 3,38| EUR4,02 |72 |
[5 |[456822  |[Litze IEt | 5,45|] EUR6,49] ||7a |
|50 |[452450 ||Linsenschraube 3,5 x 14 mm |2 | 1,51] EUR 1,80]| |1a |
|50 |[452450 [[Linsenschraube 3,5 x 14 mm |2 | 1,51] EUR 1,80] |72 |
|51 |[400848 |[Scheibe |2 | 1,73|| EUR 2,06 |72 |
http://ekat.festool.de/EKAT-Service/jsp/main.jsp?select=currentimage AndPartlist&doA... 9.6.2014




cTpanuia 3 ot 3

|52 ||478928  ||Dichtung [E? | 8,37 EURO9,96| ||7a |
l6 ||452450 ||Linsenschraube 3,5 x 14 mm |2 | 1,51]]  EURr1,80| |72 |
l6 [452450 [[Linsenschraube 3,5 x 14 mm 2 | 1,51] EUR 1,80 |2 |
|7 ][471031 |[Blende cTL MIDI I | 11,21]] EUR13,34|[090-H7-603 |72 |
|8 |[498509 |[Elektronik 230-240V IEt | 38,83| EUR46,21|[090-H11-502 |]Ja |
lo |[452031 |[Abdeckung IE | 4,95] EUR 5,89|[090-H10-502 |72 |

http://ekat.festool.de/EK AT-Service/jsp/main.jsp?select=currentimage AndPartlist&doA... 9.6.2014




